Kadri Olalekan Habeeb
Assignment 3

	Letters
	ASCII Code

	K
	75

	a
	97

	d
	100

	r
	114

	i
	105

	O
	79

	l
	108

	a
	97

	l
	108

	e
	101

	k
	107

	a
	97

	n
	110

	H
	72

	a
	97

	b
	98

	e
	101

	e
	101

	b
	98

	Total
	1865


Total mod 23 = 2

2 + 1 = 3

No 3:

In a public-key system using RSA, you intercept the ciphertext C = 10 sent to a user whose public key is e = 5, n = 35. What is the plaintext M?

Since C = Me mod n
Therefore, 10 = M5 mod 35

The following table demonstrate value for M

	M
	1
	2
	3
	4
	5

	M5 mod 35
	1
	32
	24
	9
	10


Therefore, M = 5

Since 55 mod 35 = 10

For further confirmation,

Cd mod n = M

10d mod 35 = 5, since 100000 mod 35 = 5
d = 5    

  2 primes p and q from 35 are 7 and 5

((n) = (p-1) * (q-1) 
         = (5-1) * (7-1) = 4 * 6 = 24 = z
Given that d * e mod z = 1 is always true

Therefore 5 * 5 mod 24 = 1 holds.

